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Quiz Date: 30th March 2020 

Directions (1-5): Study the following information carefully and answer the questions 
given below: 
Seven boxes A, B, C, D, E, F, G are kept one above the other containing different number of 
chocolates. Not more than three boxes are kept below A. Two boxes are kept between A 
and the box containing 41 chocolates, which is kept above Box A. D contains thrice the 
number of chocolates than box B. Box C contains 50 number of chocolates. The number of 
chocolates in box G is a cube of a number. Only one box is kept between box containing 41 
chocolates and the box which contains 39 chocolates. Only one box is between the box 
containing 50 chocolates and the one which contains 39 chocolates. Two boxes are 
between the box containing 50 chocolates and the one which contains 64 chocolates. The 
number of boxes between C and D is same as the number of boxes between C and the box 
which contains 13 chocolates. Box F contains 80 chocolates. One box contains 83 
chocolates.  
 
Q1. How many box/boxes is/are kept between Box D and Box B? 
(a) one   
(b) two 
(c) three 
(d) more than three 
(e) none  
 
Q2. How many chocolates are kept in box E? 
(a) 50 
(b) 13 
(c) 83 
(d) 41 
(e) none of these 
 
Q3. Which among the following boxes contains the maximum and minimum number of 
chocolates respectively? 
(a) G, E 
(b) B, D 
(c) B, A 
(d) A, B 
(e) none of these 
 
Q4. Which of the following combination is not true? 
(a) 50-C 
(b) 13-B 
(c) 41-E 
(d) 64-G 
(e) All are true 
 
Q5. Which among the following boxes is kept immediately below box B? 
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(a) G 
(b)  C 
(c)  A 
(d) No One 
(e) none of these 
 
Directions (6-10): Each of the following questions below consists of a question and 
two statements numbered I and II given below it. You have to decide whether the 
data provided in the statements are sufficient to answer the question. Read both the 
statements and give answer. 
 
Q6. What does ‘ra’ mean in the code language?  
I. ‘st qm ra’ means ‘Look at me’ and ‘qm ms st rt’ means ‘don’t look at him’ in that code 
language. 
II. ‘ka tv ne ra’ means ‘take me and go’ and ‘vw wx si ra’ means ‘either me or you’ in that 
code language. 
(a) if the data in statement I alone are sufficient to answer the question, while the data in 
statement II alone are not sufficient in answer the question. 
(b) if the data in statement II alone are sufficient to answer the question, while the data in 
statement I alone are not sufficient to answer the question. 
(c) if the data in either in statement I alone or in statement II alone are sufficient to answer 
the question. 
(d) if the data in both the statements I and II together are not sufficient to answer the 
question. 
(e) if the data in both the statements I and II are together necessary to answer the question. 
 
Q7. How is Sarita related to Rajesh? 
I. Soni, the cousin of Rajesh, is the niece of Sarita. 
II. Swarna is sister of Sarita who is the wife of Om. Om is the father of Rajesh. 
(a) if the data in statement I alone are sufficient to answer the question, while the data in 
statement II alone are not sufficient in answer the question. 
(b) if the data in statement II alone are sufficient to answer the question, while the data in 
statement I alone are not sufficient to answer the question. 
(c) if the data in either in statement I alone or in statement II alone are sufficient to answer 
the question. 
(d) if the data in both the statements I and II together are not sufficient to answer the 
question. 
(e) if the data in both the statements I and II are together necessary to answer the question. 
 
Q8. What is M’s rank from the top in the class of 40? 
I. The rank of S is 9th from the top and R’s rank is 20th from the bottom. M has a higher rank 
than R. 
II. N, who is between M and Q, is 15th from the bottom. 
(a) if the data in statement I alone are sufficient to answer the question, while the data in 
statement II alone are not sufficient to answer the question. 
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(b) if the data in statement II alone are sufficient to answer the question, while the data in 
statement I alone are not sufficient to answer the question. 
(c) if the data in either in statement I alone or in statement II alone are sufficient to answer 
the question. 
(d) if the data in both the statements I and II together are not sufficient to answer the 
question. 
(e) if the data in both the statements I and II are together necessary to answer the question. 
 
Q9. Point Y is in which direction with respect to point X? 
I. Point A is east of point B and north of point X. Point Y is north-west of point A. 
II. Point X is east of point B and north of point A. Point Y is north of point A. 
(a) if the data in statement I alone are sufficient to answer the question, while the data in 
statement II alone are not sufficient in answer the question. 
(b) if the data in statement II alone are sufficient to answer the question, while the data in 
statement I alone are not sufficient to answer the question. 
(c) if the data in either in statement I alone or in statement II alone are sufficient to answer 
the question. 
(d) if the data in both the statements I and II together are not sufficient to answer the 
question. 
(e) if the data in both the statements I and II are together necessary to answer the question. 
 
Q10. Who among A, B, C, D and E types fastest? 
I. B types faster than E but he is not the fastest among them. 
II. C types faster than D and E. C does not type as fast as A and B.  
(a) if the data in statement I alone are sufficient to answer the question, while the data in 
statement II alone are not sufficient in answer the question. 
(b) if the data in statement II alone are sufficient to answer the question, while the data in 
statement I alone are not sufficient to answer the question. 
(c) if the data in either in statement I alone or in statement II alone are sufficient to answer 
the question. 
(d) if the data in both the statements I and II together are not sufficient to answer the 
question. 
(e) if the data in both the statements I and II are together necessary to answer the question. 

 
 

Directions (11-12): Study the following information carefully and answer the given 
questions: 
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In a family there are eight members. A is mother of B, who is brother of C. C and Q are 
siblings. Y is daughter of P. Z is brother in law of B, who is son of D. A has only one son. 
There are only two married couples in the family. P is married to B. 
 
Q11. How is P related with Z? 
(a) Brother 
(b) Daughter 
(c) Nephew 
(d) Niece 
(e) None of these 
 
Q12. How is C related with Y? 
(a) Aunt 
(b) Daughter in law 
(c) Uncle 
(d) Granddaughter 
(e) none of these 
 
Directions (13-15): These questions are based on the following information. 
‘P@Q’ means ‘Q is the mother of P’ 
‘P$Q’ means ‘Q is the husband of P’ 
‘P#Q’ means ‘Q is the sister of P’ 
‘P*Q’ means ‘Q is the son of P’. 
 
Q13. If ‘A # B $ C * D * E’ then how is E related with B? 
(a) son  
(b) daughter 
(c) Grand daughter 
(d) Grand son  
(e) None of these 
 
Q14. If ‘A * B @ C * D # E’ then how is A related with E? 
(a) son  
(b) daughter 
(c) Father 
(d) mother  
(e) None of these 
 
Q15. If ‘A#B$C*D#E’ then how is B related with E? 
(a) son  
(b) daughter 
(c) Father 
(d) mother  
(e) None of these 
 

Solutions 
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Solutions (1-5) 
Sol. 

 
 
S1. Ans.(c) 
S2. Ans.(d) 
S3. Ans.(d) 
S4. Ans.(e) 
S5. Ans.(d) 
 

Solutions (6-10): 

S6. Ans.(c) 
Sol. if the data in either in statement I alone or in statement II alone are sufficient to answer 
the question. ra=me 
 
S7. Ans.(b) 

Sol.  
 
S8. Ans.(d) 
 
S9. Ans.(a) 
Sol. if the data in statement I alone are sufficient to answer the question, while the data in 
statement II alone are not sufficient in answer the question. 
From Statement I- Point Y is in north-west of point X. 
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S10. Ans.(e) 
Sol. if the data in both the statements I and II are together necessary to answer the 
question. 
After combining both statements I and II- A types fastest among them. 
A>B>C>D/E>D/E 
 

Solutions (11-12): 
Sol.  

 
S11. Ans.(e) 
S12. Ans.(a) 
 
Solutions (13-15): 
S13. Ans.(d) 

Sol.  
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S14. Ans.(c) 

Sol.  
 
S15. Ans.(d) 

Sol.  
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